
MA214Lecture 04

Watifthe sumples are NOT INDEPENDENT?

Two simple Ffrence:CI and HI

The notice of"prircal cata".

Istatistic matched - per study.

Example:I:E=3.0 Be care of the muthmetical assumptions behind the scene!

Te tableted value ofFours:2.7559fw-20.151 y.
Paired to test

Reject the no not cachule thatthe voices are equal. we are about the differences between the

stating
and endling states.

Small surple sizes: :D
Nurallydistributer)

New Method Stull Methal Differees.
·Independent X Y D

=X - Y

·mehegas
he

ene
Cutinous populations.

Ho wuld be the voices are equal Cupring clears

He well be the voices are unequal. · Cupring population proputions.

F-statistic:ir Example 17:

Reject it ifIsFours we on be a "Contingency table"
2x2

Degrees offerloue:(4-1. R2.I Proputions:p incent

& 21-1, 16-1)

=120, 15) womens

Hypothesis:Ho: p,-pc =0

if the vines are not equl, Ha: p.-pc > o

use the Welth's t-test.
nee

↳, ↑
: =0.052

Pc:=0.023

: B =2=0.0375-

pooler proportion.

& :3.41

P-value
=P,z33.41) =0 this can be seen it'sless than



any alpha level.

Confidence Interal in the offence between the Reject Ho

proputius (p.-P2/

<p. -pasIz=

Example:

e


